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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours/Programme 2nd Semester Examination, 2022

ECOHGECO02T/ECOGCORO02T-EcoNoMICS (GE2/DSC2)

INTRODUCTORY MACROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT M
and adhere to the word limit as practicable. s R
I. Answer any six questions from the following: 2x6 =12
feaferae @-cieal =316 @lvss Teg wies

(a) Distinguish between real GDP and nominal GDP.
2O WO TeAM ¢ WIS SIS Terweaa =i/ el |

(b) Write four functions of money.
w4 B Fe @l
(c) Define M; and M,.
M; @R M,-49 el 7S |
(d) What is multiplier?
@l 1 9
(e) Show that sum of MPC and MPS is equal to one (1).
@€ @ MPC @R MPS-93 @I5Fe] 9 ()

(f) What is meant by demand-pull inflation?
SRS JErRfs & o

(g) What is induced investment?
el fRfcs 76 9

(h) If MPC=0.8, what will be the value of MPS?
I MPC=0.8 23 94 MPS-4d NIv F© (< ?

(i) Define high-powered money.
TIfeareof SR el wie |

(j) What do you mean by value added method?
e IRCANGH Aahe eI [ @I 9

(k) Define Statutory Liquidity Ratio (SLR).
Rt CRETR Sgaiiced el wis|
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(I) What is involuntary unemployment?

HRIFe @Y & 9

Answer any two questions from the following:
fasfeie - 7 evs Teq wies

(a) “GDP is the true index of nation’s welfare”— Explain the statement.
“GDP @b AMEA 2F© PG P — 92 Sf&(G 1 Al |
(b) Write a short note on HDI.
HDI-97 &7 @36 7R ERe Biwl 51ea|
(c) What is Keynesian Consumption function? Briefly mention its main features.
@I ol S [ 9 379 o1 (el 6 o
(d) Explain open market operation of RBI credit control.
IR0 [ei® ICE (e AT ST Mo 3 forrael [efs weawai s

Answer any three questions from the following:
feafere @-cieal feaft aicis Tea nies

(a) Briefly mention the problems of measurement of national income in a country
like India.

FREFCZ! SO NCO! (M0 GISR Wi #ifsiiests sppfaiesfer Seare el

(b) Discuss the simple Keynesian Model of Income determination.
SR e e (23R oG SEDal F6EI

(c) How do you determine the value investment multiplier?

e R edws e [ F963 ¢

(d) Briefly mention the functions of Central Bank of a Country.
FREFC Q0 (MO (T FIEA I Sad I

(e) Distinguish between demand-pull and cost-push inflation.

pifwRfaie ¢ JRfaeiTe JurFiion 1 Sl FEi|

(f) Discuss the fiscal and monetary policies to control inflation.

IS ferrace arery Gife ¢ e Mol Sl s

N.B.:

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

4x2 =8

10x3 =30
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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours/Programme 2nd Semester Examination, 2021

ECOHGEC02T/ECOGCORO02T-EcoNoMIcs (GE2/DSC2)
INTRODUCTORY MACROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfeE T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R
1. Answer any six questions from the following: 2x6 =12
oo @-Ie =31 elvid Tea nies

(a) Differentiate between GNP and NNP.
GNP @3 NNP-&3 & 21<F) @04 |

(b) Differentiate between final goods and intermediate goods.
TR ool W) @ SIS WA W 2N F 9

(c) Why do you think transfer earnings are not included in the national income
measurement of a country?

T (03 SRS SR 2117 S0y TV TN TeYe 71 2 11 (& 9
(d) What is meant by “full employment”?

“opf ooy <eTce B I 2
(e) What is High Powered money?

T FAOIYS O] i 9

(f) What is the significance of the statement that, the value of MPC greater than zero
and less than one?

“MPC -7 S+ SRIZ ¥+ TPl I 8 @ S (R5”- @3 A/ 0 TLF 9
(g) What do you understand by “store of value” function of money?
BIFH TR A~ G- FI&fb 100 F (@A 2
(h) What is Cash Reserve Ratio?
9 SIS AN FICF A ?
(i) Why is the value of investment multiplier always greater than one?
RN @it M= 712 GF S TG 2 (& 2
(j) What is cost-push inflation?
“TRfaeiee YEFH” FICF 0 9

(k) Mention two reasons why per capita national income is not an appropriate
measure of national welfare.

WRIg WS S (e TSR T a6 TS AT «,917 7o T Srad
BRI

() Define M; and M..
M, @R M, -99 3| niG |
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2. Answer any two questions from the following: 4x2 =8
fasfeie @-ce 7 et Teq wies

(a) What is meant by “saving-investment identity” in national income accounting?
SO SRR (G *“H63- REIeR Srew”’ 00 | @I 2

(b) Write a short note on HDI.
HDI -9 €57 @36 WRFERE Bl 10|

(c) Analyze the causes of inflation.

JuFFIfen PReef [esd sl

(d) If in the two-sector model, the consumption function is C =800+.08Y and
autonomous investment is / = 400, then derive the equilibrium level of income,
MPS and the value of the investment multiplier.

G farsea Sowe, 3 (ois w0 24, C =800 +.08Y , FAGS [fecast 7 = 400, =7
@ SN WE, MPS @3k Rt edtaa s fadfiae st

3. Answer any three questions from the following: 10x3 =30
feaferae @-cieat feaft aicis Tea nies
(a) Discuss the production census method of measuring national income. Discuss the 5+2+3
problem of “double counting” in this context. How can we overcome this
problem?

GO N AR Teoive @A Awfofs INEAsat S a2 25 “fRoeag Ao
I 1 9B T eI SRl wE FEes i o

(b) What is meant by “effective demand”? Explain how equilibrium income is 2+8
determined by effective demand in the Simple Keynesian model.

“FIIFA BIfEW FIE A6 2 TS (LA WOCH FEFA SifEwG Mo [FeI Sy
sy fdifare =7, ©f S Sl
(c) What is consumption function? Explain the features of the Keynesian 2+8
consumption function with the help of a diagram.
(ool ST SIS AT 9 (FEIA (S SR ([RZrefer crifboas A=iey i e

(d) What is ‘value of money’? Explain the Fisher’s version of Quantity Theory of 2+8
Money.
S T FETce [F @I 2 Reiices wiedd #ifiiel wefb i< e

(e) Briefly discuss the functions of a Central Bank. 10
IRCTCA GG (P TICE P! S Bl |

(f) What are the similarities and differences between banks and non-bank financial 4+6

institutions? Discuss the functions of commercial banks in an economy.

E ¢ TIF AT PSR T AP ¢ Adme 7 T o g wdRifere Al
ICED IR DN FC |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours/Programme 2nd Semester Examination, 2020

ECOHGECO02T/ECOGCORO02T-EcoNoMICS (GE2/DSC2)

INTRODUCTORY MACROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT M
and adhere to the word limit as practicable. s R
1. Answer any six questions from the following: 2x6 =12
oo @-Ie =31 elvid Tea nies

(a) Differentiate between normal and real national income.
T SO o7 @ 2Fe TS WS W) AL T
(b) What do you mean by transfer income?
TRV I 08 ([ @I 2
(c) Define full employment.
s§¢f e kel wie)
(d) What do you mean by ‘Say’s Law’?
Say’s-@q oo fF 9
(e) If MPS = 0.25, then find the value of investment multiplier.
A MPS = 0.25 2 (3 RiFeie @aa Wi ek e
(f) What is induced investment?
eiefre R 6 9
(g) What is Human Development Index?
WS TR I 9
(h) Show that sum of MPC and MPS is 1.
(A8 @ MPC 4R MPS &3 (I1%Fe] 77l 1 21|
(1) What do you mean by velocity of circulation of money?
L 25ET (@5 IETC F @I 9
(j) What is bank rate?
QY= &6 2
(k) What is meant by deflation?
@I FRCFIG FeT00 (3 QI 22 2
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(I) Define High-powered money.
T *IfGaef S el wie |

2. Answer any two questions from the following: 4x2
fasfeie @-cee 7 evs Teq wies

(a) Show that Net National Income and Net National Production of a country are
identical.

(1S ( (I (01 IG SIS S 6 b SISk Geofe e 2|

(b) Explain the concept of demand-pull and cost-push inflation.
bifewl-3f e @ -3 Giere JurFIfen dimeiefe i we |

(c) Briefly discuss the methods of Selective Credit Control of Reserve Bank of India.
ORCed e 0w b v fograe srafe e b Tl

(d) Discuss the problem of measurement of National Income.

GO W Ao SfRate e @l

=38

3. Answer any three questions from the following: 10x3 =30

T @-Cieat foaf? elvsa Teg wiss

(a) Discuss the credit control methods of Central Bank.
@R ICE Aol @l “imfowft S @

(b) Explain the Keynesian theory of income determination.
e ferdfiae (R wlt il el |

(c) Explain Fisher’s Quantity Theory of Money with limitations.
HIREES ERIRICERRERIERRICHERIRI Rl

(d) Define national income. Explain the concept of circular flow of National Income.

GO SN FICE A0 9 SO SN J€ @0 AieliG it RN |

10

10

6+4

2+8

(e) Explain the causes of inflation. What is an ‘Inflationary Gap’? How can this gap 4+4+2

be fixed?
Yoirifon Fief 1 FEH JErFiien 2 [ 2 2 T va 11 I FelE ¢

(f) What is multiplier? Determine investment multiplier for a closed economy with
autonomous investment and consumption expenditure as a function of income.

T PIF I ¢ I IAIfore @A FIge R Witz 93 ¢eiR (i (ol I
SIEA T feaae, Gralt war S fadiae e

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours/Programme 2nd Semester Examination, 2019

ECOHGEC02T/ECOGCORO02T-EcoNOMICS (GE2/DSC2)

INTRODUCTORY MACROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. e T g s ’2"737777’ faee F¢d 1
Candidates should answer in their own words AT e ST I T HAANNG WY
and adhere to the word limit as practicable. eg A1
1. Answer any six questions from the following: 2x6 =12
fesfefis @-it 2915 aves Teg wies

(\:}) Distinguish between GDP and GNP.
GDP @3 GNP-«3 5t #1193 3

(b) What is transfer income?
TBE Y 5 2

(¢) If mps = 0.25, what will be the investment multiplier?
T mps = 0.25 2¥, oigre R eI N IS I 7

(d) What is induced investment?
eireifre s 9

(¢} What is meant by ‘inflationary gap’?
TRFEFIRSR TIF° F#10o 6 @R 9

(f) Define full-employment.
v ke wie)

(g) What is Say’s Law of market?
WW“’WSay-uﬂ“ﬂ ISICIERERS

(h) What is meant by Cash Reserve Ratio (CRR)?
T4 G SIS TS (I 9

(\1/) What is inflation?
ErEie e & @R 9

9) What is real national income?
23S GO BNy FS 0T 9

_g() What is Human Development Index (HDI)?
R S I 9
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Mention two features of commercial banks.

e Fivea 12 @iy S s

Answer any fwo questions from the following:

frafeiie @-coiea 7215 e Tea et

Is GDP a true index of national welfare? Give reasons.

i SrereR T & weiT Femicia T #idE AN » TR (e
Explain the concepts of M;, M,, M; as indicators of money supply.
SO AR AT BAE M, , M,, M, 63 gRenef gt e
Distinguish between cost-push and demand-pull inflation.
TA-fereae JurifS @k vifgw e urdifen S A s

What is bank rate? Explain its importance in credit control process of the central
bank.

FF &6 ST I 2 (T JILFET 4 [F7gs Ao 97 e [ F@h

Answer any three questions from the following:

ffeie @-caie fafo v Tea nie:

What is meant by the problem of multiple counting in national income
accounting? What are the methods to resolve this problem? Discuss the problems
of national income measurement in developing countries like India.

TEW WE AR o eI R Re e Tere [ @RIT ¢ 9% W
AT ~wfoef & & ¢ siarss Wiy Tarlie (e WSl wiE ARNeR vE T
A R A 9

What is consumption function? Explain the features of the Keynesian
consumption function and illustrate those with the help of a diagram.

(15! WA IS 0 ¢ (FRAAY (Bl WA (B2l ciifoe it 1! e
How is equilibrium income determined in simple Keynesian Model?

Discuss the process of credit creation by commercial banks.

JffeTs Tis 39S 39 7 e siss s

Describe the functions of central bank in an economy.

(B WLTET Py JieaT PN e e

Discuss the effects of inflation on an economy.

IR @rFeT oS S FEt

X

4x2/=8

10x3 =30

2+4+4

2+8

10

10

10

10



